
Multiply 3-digits by 2-digits

1 	 Complete the multiplications.

a)	 13 × 3 =  	 c)	 25 × 4 = 

	 13 × 30 =  	 	 25 × 40 = 

b)	 130 × 2 = 	 d)	 204 × 4 = 

	 130 × 20 =  	 	 204 × 40 = 

2 	 Complete the multiplications.

a)	

2 3 1

× 1 3

6 9 3

2 3 1 0

	

	 	 (231 × 3)

	 	 (231 × 10)

b)	

5 1 2

× 2 4

22 0 4 8

11 0 2 4 0

	 	 (   ×  )

	 	 (   ×  )

3 	 Brett is calculating 216 × 23

What mistake has Brett made?

What is the correct answer?

�  

4 	 Complete the multiplications.

a)	 142 × 31 = 	 c)	 214 × 53 = 

b)	 337 × 46 = 	 d)	 24 × 183 = 
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2 1 6

× 2 3

6 41 8 0

4 31 2

6 91 1 2


